©| X |TDD|TD
= N |2 N2 N
h mjom|om
m O | < ol o
@ Z | Z|M =
= m Z MmN m
mw, — = wn mv_
- A |M o =
2189z
Elaoclm
T
=
=574 86,27 |
—4,35
O 86,36 |
4,14 186,40 |
—3,05 86,69 |87,23
2,75 | 86,69 187,23 ]
86,60 |87,11
—1,97 86,78 |
—0,18 86,78
-0,12 |86,78
_0,08 386,78386,6587,16
0,00 86,78
1,72 86,74 |
2,75 86,60 [87,11
3,05 86,69 87,23
339 86,74 |B6,69 787,23
. 86,75
577 g675 |
4,10

008 = "d'd

Zwogt = dASW [ ]
w00°0 = dOYAM [

001:1/00L:1 2[oxS

00°GZS "Mid

O X |TLITD
= N |2 N2 N
h mjom|om
m O | < ol o
Q zZ | Z|M =
= m Z m N m
mw, — z 7)) mv_
- Py M o =
TR ez
Sloc|m
T
=z
5,77 |86,/
|U~mﬂ i mmgﬂm
-3,05 86,76 87,30
s
—1,91 86,77 ’ )
—1,88 786,777
0,00 18681 |96 73 187,24
0,12 986,811
1,77 186,82 |
86,67 |87,18
R 86,76 187,30
05 86,76 187,30
3,71 1 86,86
4,05 86,87

00‘v8 = 'd'd

el = dASW ||
TW00°0 = dOXAM [

0011 /0011 9IPAS

00°00G "Mid



